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Ne 234,

4)\x-1=x-3 6)V6+x-x2=1-x
2)x+Vx=2(x-1)
Vx=2x-2-X S x-1=x2-6x+9 & Ox-x=l-2x+x*
Vx=x-2 4 350 1-x>0
> | x=x-4x+4 = = 2‘3[2 -3x-5=0
<= x>-7x+10=0 x<1
x-2>0 = =—
| x23 =
& x7-1, x=-2,5
<> x2-5x+4=0 =
== <> x=5, x=2 | x=1
x>2 ==
= \X_ OtBeT: Xx=-1.
_ OTtBet: x=5.
<= x=1, x=4
S

Ot1BeTt: x=4.
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2)Vx2-36,75=x-3,5 4)\5x+V14-x=8 6)V3-2x-V1-x=1
x2-36,75=x2-7x+12,25 \14-x=8-V5x V3-2x=1+V1-x
Tx=49 14-x=64-16\5x+5x 3-2x=1+2V1-x+1-x
x=7 16\5x=50+6x 2V1-x=1-x
IlpoBepka: 8V5x=25+3x 4-4x=1-2x+x*
\49-36,75=7-3,5 320x=625+150x+9x> X*+2x-3=0
3,5=3,5 9x2-170x+625=0 x1=1
Orger: x=7. D=6400 x2=-3
x1=125/9 lp-ka:
x2=5 =
V3-2-V1-1=1
IIp-ka: 1-0=1
X=125/9 — m.k. =
V625/81+V14-125/9+#8 -
X=35 V3+6-\1+3=1
V25+V14-5=8 3-2=1
8=8 1=1
OTBeT: x=5. OtBeT: X=1, x=-3.




